RSH-WZM#:

4-SX{ 4-SX{
w ‘ L W ‘ E) L
N L1 B ‘ L1
n A2 sdz —< w . g0z .
R (55 I 1) IO h ST il s Q HG h N M Lot
M T QK Mﬂ‘#T L M EERNEREE w[ [
i Ha ) L T L ‘ 1 Hs /
g || L Ws pdi
Wa W E W2 W1 E
RSH7~12WZMF RSH15WZMF
Bfi7:mm
ST5% LMIOv o3& LML—)UE& BATRAE| BWHFSIE—XVKNmM* | B B
BORE |mc| | B IR 2 e |evs gx ool A L
FUR BT | |\ | RS RN s y—2 B =S (Ey & 0 a) A | s
I = = |
M| W L B C SX?t L, T K N E d Hs W, Wz | Ws [ Mi [ F | diXdaXh | Max | kN | kN [ 118 |2BZ&E| 118 |2@%E| 118 | kg |kg/m
RSH 7WZM | 9 25 (3151 19 | 10 | M3x25 |19.7|34 | 7 |18| — | 1.5 — 2 14 _805 55| — | 52| 30 |3.5%x6%x3.2| 400 |1.37|2.16/6.54|42.1 |6.54|42.1|15.4|0.018( 0.51
RSHOWZM | 12 | 30 | 39 | 21 12 | M3x28 | 27 |39(|91 23| — | 1.6 — 29 18_805 6 — | 7.5 30 [3.5%X6%X4.5| 1000 |2.45|3.92|] 16 |929| 16 |92.9| 36 | 0.03 | 1.08
RSH 12WZM | 14 | 40 (445 28 | 15 | M3X 3.6 |29.3| 4.5 |10.6| 3 — 2 — 3.4 24 _805 8 | — | 85| 40 |45X8X%X45| 1430 (4.02(6.08/24.5| 138 |21.7]| 123 [59.5|0.06 | 1.5
RSH 15WZM | 16 | 60 [55.5( 45 | 20 | M4x4.5 |39.3| 5.4 |[126| 3 [ 36| — PB107 |3.4 42 _805 9 | 23 (9.5]| 40 [4.5%x8%4.5| 1800 |6.66(9.8 |50.3| 278 |44.4| 248 | 168 [0.135| 3
FBILMIOY I LMU—)L. R—)LDOMEICRA TV U AMZFER LTS DT MR MREEICBNTVETY . F)REST REMaxlE.LMU—)LDEEERARESZERULE T, (A1-322 BH)
BNHEE—XV N ELMIOv 2 BB 2ENEEE—X > ME
FUREDERRS @R LMT Oy & % 2EES LR COBNIBE— XV M
2 RSHOWZ M SS C1 +170L P M
- 1 ~T1 -1 0
FOHE BHEERR LML—ILEE | LML—JLb
ER=1C2) (mm=%RR) 2T VLA
1§m(7«:ﬂéﬁﬁgb‘dﬂﬂ%§ﬂ SYPLVTEFRSB G gl
LMT O D #8 (BE2)/BFE(C] BEEDS o
HERLS)/BFEC 4R (EES)/ HR(H) AR (P)
(%1)M1-558 EMMBR)SE (2)A1-748F (43)D1-8651R
N1-320 =K e Ll L https://tech.thk.com &S TV aY=>R1-521 TE [E1-321

S LN .



